Fourier Series of a Pulse Train
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Example Matlab Calculation

f=200 Hz ?
T=5ms 15

S ImlnImi

0

05}

-1
-5 0 5

04
03r
.\% 0.2

01

-20 -15 -10 -5 0 5 10 15 20




Example Matlab Calculation
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Example Matlab Calculation
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Example Matlab Calculation
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Alternate View
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Non-periodic Waveforms: Fourier Transform
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Fourier Series of Impulse Train

f=10Hz f=1000 Hz
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Transform Domains

—  Circuit with inductor(s) Diff. EQs Sinusoidal steady-state
and capacitor(s) > solution
Phasor
Transform Inverse phasor
Phasor Transform = Transform
_ Phasor-domain Algebraic EQs Phasor-domain
u(t) B ACOS((UO L+ QD) circuit = solution
[ Circuit with inductor(s) Diff. EQs steady-state
and capacitor(s) > solution
Fourier Transform Fourier .
- Transform Inverse Fourier
Transform
u (t) — Z C 1, COS (na)o t + (pn) Frequency-domain Algebraic EQs Frequency-domain
_ circuit solution
—  Circuit with inductor(s) Diff. EQs
and capacitor(s) = solution
Laplace Transform Laplace
Transform Inverse Laplace
- Transform
u(t) = Z K,esnt . .
s-domain Algebraic EQs s-domain
circuit solution
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The Laplace Transform




Complex Frequency




